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VL VIZS AHH (0. 0005 i) mg/1 FR46ERE 55595 3k2
KR 0. 00005 i mg/1 FE46BR & 85605751
B RITA 0.0003 R mg/1 JIS K 0102 55.4
v 0.001 >Ry mg/1 JIS K 0102 54.4
A=A 10.005  R¥E mg/1 JIS K 0102 65.2.5
U% 0.001 i mg/1 JIS K 0102 61. 4
VTV TR (0.1 R5%) mg/1 JIS K 0102 38.3
PCB FHH (0. 0005 i) mg/1 FE46RE B59 =T33
A=R=E= 0.003 i mg/1 JIS K 0125 5.2
FRSspnTFL v 0.001 KW mg/1 JIS K 0125 5.2
VA=R=0 & 2% 0.002 i mg/1 JIS K 0125 5.2
bR idres 0.0002 R mg/1 JIS K 0125 5.2
Lo-Ysmmziy 0.0004 ki mg/1 JIS K 0125 5.2
L1-Y/mazFLv 0.002 R mg/1 JIS K 0125 5.2
V-1, -V mEIF L 0.004 SR¥ ng/1 JIS K 0125 5.2
1,1,1-r Y Zmpoxzg v 0.010 ki mg/1 JIS K 0125 5.2
L1,2-hYyZmpoxx 0.0006 i mg/1 JIS K 0125 5.2
1,3-Yrunray 0.0002 R mg/1 JIS K 0125 5.2
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FI 5 A 0.0006 R mg/1 AR46BR 5 F59 5 115k4
=V 0.0003 kW mg/1 RR46ER & 55595 15R5551
FARINT 0.002 KW mg/1 AB465R 5595 (K551
RuP Y 0.001 W me/1 JIS K 0125 5.2
L 0.001 =KW me/1 JIS K 0102 67.4
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